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QUESTION )

If we want to increase the frequency of transverse oscillations of a stretched

string by 40%, the tension must be increased by [2020]
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QUESTION )

A sonometer wire of length /,, is in resonance with a frequency 250 Hz. If the
length of wire is increased to [,, ther@oeats s-1 are heard. The ratio of lengths

[, /1, of wire will be [2020]
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QUESTION )

[f the ratio of amplitudes of two sound waves is 4: 3, then the ratio of maximum
and minimum intensities is: [2021]
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QUESTION )

The length and diameter of a metal wire used in sonometer is doubled. The

fundamental frequency will change from n to [2021]
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STION @
UE

A transverse wave of ampliltude 0.05 m and frequency 250 Hz is travelling along

a stretched string with a speed of 100 m/s. What would be the displacement of a
particle at a distance 1.1 m origin after 0.02s?
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Homework

1) Revise all lectureg

1) Revise all DPPs & Numevricals.






